Notes - 21.1 Resistors in Series and Parallel

1. Suppose the voltage output of a battery L_Z 0 V{and the resistances for 2 resistors
connected in series with the battery are Ry £ 2,000 dnd Rz=4Q
A. Draw a diagram of 'rhe cnrcuu‘r What makes:it a series circuit?
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B. What is the total resistance? What's the ryle for equivalent resistance in a
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C. Find thé cur‘r‘enf Whafs the rulefor i al and overall currents in a series
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over'all currents in a series cnr‘cuuf"
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consumed by individual resistors, and overall, in a series cnr‘cunf’
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16. Suppose the voltage output of a battery is 12.0 V, and the resistances for 2 resistors
connected in parallel with the battery are R1 = 2,00 Q and R2 = 4 Q.
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B. What is the total resistance? What wr equwalenT resistance in a
par‘allel CirEGit? _’L. A TN 2
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C. Find the currenTth;Ts th
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Overall cur'r'en'l's in-a-parallel-circui
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|V|dual and overall currents in a par‘allel

_lz2v

TR T eem— T
— /(/ \7 \‘,'_,‘__\-'/

’
'f' , & & 2 | '°7

(] B
|



